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Kinematics 
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Dynamics 
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Circular Motion 
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Work and Energy 
 

 
 
 
 
 



sF kx=− max
kv A
m

=

2 mT
k

π= 2 lT
g

π=

l v t= ∆ v f λ=

1
4cL λ= 1

2oL λ=

1f T=

cosx r ϑ= ⋅ siny r ϑ= ⋅

2 2 2x y r+ = tan y
xϑ =

 
 
Oscillatory Motion 
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Mechanical Waves 
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Vector Components 
 
 sin               cos                     tanopp adj opp
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Constants 
Acceleration due to gravity Earth surface  a = - 9.81 m/s2 
Gravitational field, Earth’s surface   g = 9.81 N/kg 
Universal Gravitational Constant   G = 6.67 x 10-11 Nm2/kg2 
Earth Mass       ME = 5.97 x 1024 kg 
Earth Equatorial Radius     RE = 6.37 x 106 m 
Speed of sound, 20°C     v = 343 m/s 
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